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1 Introduction
1.1 Objectives
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1.2 Reference

DS-2015SE-NPS-SRS-1.0

T1-2015-NPS-SRA-1.2

T1-2015-NPS-SDA-1.0

T1-2015-NPS-UTP-1.0
2 Unit test case specification
2.1  Test case specification identifier

<Table 1.1 Test Case Identification>

[dentifier Feature Pass / Fail Criteria

NPS.UTC.1000.00 | user add user a1 ERROR:not supported
command

NPS.UTC.1000.01 | user del user a1 ERROR:not supported
command

NPS.UTC.1000.02 | user show user list ERROR:not supported
command

NPS.UTC.2031.00

NPS.UTC.2032.00 | AddUser("a1") g_UserInfoList={"a1"}
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NPS.UTC.2032.01 | g_UserInfoList={"a1"} ERROR:a1 is Already
AddUser("a1") registed.
NPS.UTC.2032.02 | AddUser("a11111111111111111111111111111111 | ERROR:Incorrect
1111111111117 UserName
NPS.UTC.2032.03 | AddUser(" ") ERROR:Incorrect
UserName
NPS.UTC.2032.04 | AddUser("a1 a2") g_UserInfoList={"a1 a2"}
NPS.UTC.2032.05 | AddUser("&a1") g_UserInfoList={"&a1"}

DelUser("a2")

NPS.UTC.2034.00 | MY At & thest Z2MA U482 HE
Ste ZZNAE HAEA X

NPS.UTC.2041.00

NPS.UTC.2033.00 | g_UserInfoList={"a1"} g_UserInfoList==0
DelUser("a1")
NPS.UTC.2033.01 g_UserInfoList={"a1"} ERROR:a2 is not

registered

NPS.UTC.2042.00 | KEYWORD_INK == TRUE g_SuppliesData.Ink={10
inkValue =100 0}

NPS.UTC.2042.01 | KEYWORD_INK == TRUE ERROR:Invalid Input ink
inkValue = -100 Value

NPS.UTC.2043.00 | KEYWORD_PAPER == TRUE g_SuppliesData.Paper={
paperValue =100 100}

NPS.UTC.2043.01 KEYWORD_PAPER == TRUE ERROR:Invalid Input
paperValue = -100 paper Value

NPS.UTC.2043.02 | KEYWORD_PAPER == TRUE g_SuppliesData.Paper={
paperValue = 100 100}
KEYWORD_INK == TRUE g_SuppliesData.Ink={10
inkValue = 100 0}

NPS.UTC.2043.03 | KEYWORD_PAPER == TRUE g_SuppliesData.Paper={
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paperValue = 100 100}
KEYWORD_INK == TRUE ERROR:Invalid Input ink
inkValue = -100 Value

NPS.UTC.2043.04 | KEYWORD_PAPER == TRUE ERROR:Invalid Input
paperValue = -100 paper Value
KEYWORD_INK == TRUE g_SuppliesData.Ink={10
inkValue =100 0}

NPS.UTC.2043.05 | KEYWORD_PAPER == TRUE “ERROR:Invalid Input
paperValue = -100 paper Value
KEYWORD_INK == TRUE ERROR:Invalid Input ink
inkValue <=0 Value

NPS.UTC.2043.06 | KEYWORD_INK == TRUE g_SuppliesData.lnk={10
inkValue =100 0}
KEYWORD_PAPER == TRUE g_SuppliesData.Paper={
paperValue =100 100}

NPS.UTC.2043.07 | KEYWORD_INK == TRUE g_SuppliesData.lnk={10
inkValue =100 0}
KEYWORD_PAPER == TRUE ERROR:Invalid Input
paperValue = -100 paper Value

NPS.UTC.2043.08 | KEYWORD_INK == TRUE ERROR:Invalid Input ink
inkValue = -100 Value
KEYWORD_PAPER == TRUE g_SuppliesData.Paper={
paperValue =100 100}

NPS.UTC.2043.09 | KEYWORD_INK == TRUE ERROR:Invalid Input ink
inkValue = -100 Value
KEYWORD_PAPER == TRUE ERROR:Invalid Input
paperValue = -100 paper Value

NPS.UTC.3010.00 ZENA R uITdE
HAENAM H <
NPS.UTC.3020.00 | AddJob(userldx, "test.txt"); g_JobWaitList={test.txt}
NPS.UTC.3020.01 | AddJob(userldx1, "test.txt"); g_JobWaitList={test.txt1,
AddJob(userldx2, "test.txt"); test.txt2}

T1 Team 5

1z
[>
[m
iK%}
JE



Ver. T1-2015.NPS.UTR-1.0

NPS.UTC.3020.02 | GetNodeCount(g_JobWaitList)==5 ERROR:JOB WAIT LIST
AddJob(userldx, "test.txt"); FULL
NPS.UTC.3020.03 | AddJob(userldx, "test.txt"); ERROR:request file
test.txt != EXIST open failed
NPS.UTC.3030.00 | g_JobWaitList={(1, test1.txt), (2, test2.txt)} g_JobWaitList={test2.txt
DeleteJob(userldx1); }
NPS.UTC.3030.01 | GetNodeCount(g_JobWaitList)==0 ERROR: UID : 0 Job not
DeleteJob(userldx); found
NPS.UTC.3030.02 | g_JobWaitList={(1, test1.txt)} g_PrinterContext.pCurre
DelelteJob(1) ntJob=Printing
g_PrinterContext.pCurre
ntJob=NULL
NPS.UTC.3030.03 | g_JobWaitList={(1, test1.txt), (2, test2.txt)} g_JobWaitList={test2.txt
DelelteJob(1); }
NPS.UTC.3030.04 | g_PrinterContext.status == Printing g_PrinterContext.status
DeleteJob(currentUserldx); =print

g_PrinterContext.status

=wait

NPS.UTS.3040 00 | g_JobWaitList={(1, testl.txt), (2, test2.txt), (3, | g_PrinterContext.status
test3.txt)} = CancelSignal
CancelAll(); DeleteNode(&g_JobWai
tList, pJobNode)

NPS.UTC.3050.00

NPS.UTC.3060.00

(HAE 23] T1 Team 6



Ver. T1-2015.NPS.UTR-1.0

NPS.UTC.3070.00 | pCurrentJob != NULL g_PrinterContext.pCurre
ntJob = NULL
g_PrinterContext.status
= Wait
NPS.UTC.3070.01 | pCurrentlob = NULL g_PrinterContext.status
= Wait

NPS.UTC.3080.00 | Interfaces= testing X2l _

NPS.UTC.3090.00

NPS.UTC.3100.00 | pCurrentlob.needPaper != pCurrent)ob.printedCnt | g_PrinterContext.status
Ifeof(pCurrentJob.pInFile) == TRUE = Printing

Printing &
NPS.UTC.3100.01 | pCurrentlob.needPaper != pCurrentlob.printedCnt | g_PrinterContext.status
Ifeof(pCurrentJob.plnFile) == FALSE = Wait

Wait £

fclose(pCurrentJob.pInFi

NPS.UTC.3100.02 | pCurrentJob.needPaper
pCurrentJob.printedCnt le)
fclose(pCurrentJob.pOut
File)

free(pCurrentlob)
g_PrinterContext.pCurre
ntJob = NULL
g_PrinterContext.status
= Wait

Wait =5

T1 Team 7
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NPS.UTC.3110.00 | g_PrinterContext.ink + refilllnk > | refillink = refillink -
MAX_SUPPLIES_INK (g_PrinterContext.ink  +
refilllnk_MAX_SUPPLIES_

INK)

NPS.UTC.3110.01 | g_PinterContext.paper + refillPaper > | refillPaper = refillPaper
MAX_SUPPLIES_PAPER -
(g_PrinterContext.paper
+ refillPaper -
MAX_SUPPLIES_PAPAER)
NPS.UTC.3110.02 | (g_SuppliesData.Ink != 0 && g_PrinterContext.ink | g_PrinterContext.status
< MAX_SUPPLIES_INK) [ = Refilling
(g_SuppliesData.Paper = 0 &’
g_PrinterContext.paper < MAX_SUPPLIES_PAPER)
NPS.UTC.3110.03 | (g_SuppliesData.Ink = 0 || g_PrinterContext.ink > g_PrinterContext.status
MAX_SUPPLIES_INK) && = Wait
(g_SuppliesData.Paper = 0 1
g_PrinterContext.paper > MAX_SUPPLIES_PAPER)

2.2 Test items

<Table 1.1 Test Case Identification> &=X
2.3 Input specifications

<Table 1.1 Test Case Identification> &=
2.4 Output specifications

<Table 1.1 Test Case ldentification> &=

3 Environmental needs

A

T1-2015-NPS-UTP-1.0 Environmental needs &5 %
4 Unit test summary report
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4.1  Test summary report identifier

Identifier Feature Pass / Fail Criteria Test Result

NPS.UTC.1000.00

user add user a1l

ERROR:not
supported

command

PASSED

NPS.UTC.1000.01

user del user a1

ERROR:not
supported

command

PASSED

NPS.UTC.1000.02

user show user list

ERROR:not
supported

command

PASSED

NPS.UTC.2033.00

g_UserInfoList={"a1"}
DelUser("a1")

g_UserInfoList==0

NPS.UTC.2031.00 | & 9z & Hedh Z2M2 & uIF PASSED
= g9
Q|
NPS.UTC.2032.00 | AddUser("a1") g_UserlnfoList={"a1 PASSED
'}
NPS.UTC.2032.01 | g_UserInfoList={"a1"} ERROR:a1 is PASSED
AddUser("a1") Already registed.
NPS.UTC.2032.02 | AddUser("a11111111111111111111111 | ERROR:Incorrect PASSED
1111111111111111111117) UserName
NPS.UTC.2032.03 | AddUser(" ") ERROR:Incorrect PASSED
UserName
NPS.UTC.2032.04 | AddUser("a1 a2") g_UserlnfoList={"a1 PASSED
a2"}
NPS.UTC.2032.05 | AddUser("&a1") g_UserInfoList={"& PASSED
al"}

PASSED
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NPS.UTC.2041.00

EM2a R ut

HI A~ E 0 A

NPS.UTC.2033.01 g_UserInfoList={"a1"} ERROR:a2 is not PASSED
DelUser("a2") registered

NPS.UTC.203400 | M 9 & ttedt Z2MA R Uit PASSED
MS oSt T2 MA LS HAEOAM
N el

PASSED

NPS.UTC.2042.00 | KEYWORD_INK == TRUE g_SuppliesData.Ink PASSED
inkValue =100 ={100}

NPS.UTC.2042.01 | KEYWORD_INK == TRUE ERROR:Invalid PASSED
inkValue = -100 Input ink Value

NPS.UTC.2043.00 | KEYWORD_PAPER == TRUE g_SuppliesData.Pap PASSED
paperValue =100 er={100}
NPS.UTC.2043.01 | KEYWORD_PAPER == TRUE ERROR:Invalid PASSED
paperValue = -100 Input paper Value
NPS.UTC.2043.02 | KEYWORD_PAPER == TRUE g_SuppliesData.Pap PASSED
paperValue = 100 er={100}
KEYWORD_INK == TRUE g_SuppliesData.Ink
inkValue = 100 ={100}
NPS.UTC.2043.03 | KEYWORD_PAPER == TRUE g_SuppliesData.Pap PASSED
paperValue = 100 er={100}
KEYWORD_INK == TRUE ERROR:Invalid
inkValue = -100 Input ink Value
NPS.UTC.2043.04 | KEYWORD_PAPER == TRUE ERROR:Invalid PASSED
paperValue = -100 Input paper Value
KEYWORD_INK == TRUE g_SuppliesData.Ink
inkValue =100 ={100}
NPS.UTC.2043.05 | KEYWORD_PAPER == TRUE “ERROR:Invalid PASSED
[HAE YE] T1 Team 10
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NPS.UTC.3010.00

paperValue = -100 Input paper Value
KEYWORD_INK == TRUE ERROR:Invalid
inkValue <=0 Input ink Value
NPS.UTC.2043.06 | KEYWORD_INK == TRUE g_SuppliesData.Ink PASSED
inkValue =100 ={100}
KEYWORD_PAPER == TRUE g_SuppliesData.Pap
paperValue =100 er={100}
NPS.UTC.2043.07 | KEYWORD_INK == TRUE g_SuppliesData.Ink PASSED
inkValue =100 ={100}
KEYWORD_PAPER == TRUE ERROR:Invalid
paperValue = -100 Input paper Value
NPS.UTC.2043.08 | KEYWORD_INK == TRUE ERROR:Invalid PASSED
inkValue = -100 Input ink Value
KEYWORD_PAPER == TRUE g_SuppliesData.Pap
paperValue =100 er={100}
NPS.UTC.2043.09 | KEYWORD_INK == TRUE ERROR:Invalid PASSED
inkValue = -100 Input ink Value
KEYWORD_PAPER == TRUE ERROR:Invalid
paperValue = -100 Input paper Value

PASSED

NPS.UTC.3020.00 | AddJob(userldx, "test.txt"); g_JobWaitList={test PASSED
Axt}

NPS.UTC.3020.01 | AddJob(userldx1, "test.txt"); g_JobWaitList={test PASSED
AddJob(userldx2, "test.txt"); Axt1,test.txt2}

NPS.UTC.3020.02 | GetNodeCount(g_JobWaitList)==5 ERROR:JOB  WAIT PASSED
AddJob(userldx, "test.txt"); LIST FULL

NPS.UTC.3020.03 | AddJob(userldx, "test.txt"); ERROR:request file PASSED
test.txt != EXIST open failed
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NPS.UTC.3050.00

test2.txt), (3, test3.txt)}
CancelAll();

EMA 2 U
HlAEOf A

T1 Team

atus =
CancelSignal
DeleteNode(&g_Jo
bWaitList,
pJobNode)

NPS.UTC.3030.00 | g_JobWaitList={(1, test1.txt), (2, | g_JobWaitList={test PASSED
test2.txt)} 2.txt}
DeleteJob(userldx1);
NPS.UTC.3030.01 | GetNodeCount(g_JobWaitList)==0 ERROR: UID : 0 Job PASSED
DeleteJob(userldx); not found
NPS.UTC.3030.02 | g_JobWaitList={(1, test1.txt)} g_PrinterContext.p PASSED
DelelteJob(1) CurrentJob=Printin
9
g_PrinterContext.p
CurrentJob=NULL
NPS.UTC.3030.03 | g_JobWaitList={(1, test1.txt), (2, | g_JobWaitList={test PASSED
test2.txt)} 2.txt}
DelelteJob(1);
NPS.UTC.3030.04 | g_PrinterContext.status == Printing g_PrinterContext.st PASSED
DeleteJob(currentUserldx); atus=print
g_PrinterContext.st
atus=wait
NPS.UTS.3040 00 | g_JobWaitList={(1, test1.txt), (2, | g_PrinterContext.st PASSED

PASSED

12



NPS.UTC.3060.00 | Interfaces= testing <] | PASSED

NPS.UTC.3070.00

pCurrentJob != NULL
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g_PrinterContext.p
CurrentJob = NULL
g_PrinterContext.st
atus = Wait

PASSED

NPS.UTC.3070.01

NPS.UTC.3080.00 | Interfaces= testing <] | PASSED

NPS.UTC.3090.00

pCurrentJob = NULL

EMA FH U

g_PrinterContext.st
atus = Wait

PASSED

PASSED

NPS.UTC.3100.00 | pCurrentJob.needPaper = | g_PrinterContext.st PASSED
pCurrentJob.printedCnt atus = Printing
Ifeof(pCurrentiob.pInFile) == TRUE Printing =%

NPS.UTC.3100.01 | pCurrentJob.needPaper = | g_PrinterContext.st PASSED
pCurrentJob.printedCnt atus = Wait
Ifeof(pCurrentJob.plnFile) == FALSE Wait &8

NPS.UTC.3100.02 | pCurrentJob.needPaper == | fclose(pCurrentJob. PASSED
pCurrentJob.printedCnt pInFile)

[HAE YE] T1 Team 13
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fclose(pCurrentJob.
pOutFile)
free(pCurrentob)

g_PrinterContext.p
CurrentJob = NULL
g_PrinterContext.st
atus = Wait

Wait =&

NPS.UTC.3110.00 | g_PrinterContext.ink + refillink > | refillink = refillink — PASSED

MAX_SUPPLIES_INK (g_PrinterContext.in
k +
refillink_MAX_SUPP
LIES_INK)

NPS.UTC.3110.01 | g_PinterContext.paper + refillPaper > | refillPaper = PASSED

MAX_SUPPLIES_PAPER refillPaper -
(g_PrinterContext.p
aper + refillPaper —
MAX_SUPPLIES_PA
PAER)

NPS.UTC.3110.02 | (g_SuppliesData.lnk != 0 && g_PrinterContext.st PASSED
g_PrinterContext.ink < atus = Refilling
MAX_SUPPLIES_INK) [

(g_SuppliesData.Paper = 0 &&

g_PrinterContext.paper <

MAX_SUPPLIES_PAPER)

NPS.UTC.3110.03 | (g_SuppliesData.Ink = 0 || g_PrinterContext.st PASSED
g_PrinterContext.ink > atus = Wait
MAX_SUPPLIES_INK) &&

(g_SuppliesData.Paper = 0 [|

g_PrinterContext.paper >

MAX_SUPPLIES_PAPER)
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4.2

Evaluation

Total test case : 507H

Passed : 507

Failed : 7Y

e
1H
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